
Estimation .

-

:

Definition : - let n=s
.

let ×
, ,xy. . K be ix. DX

let g : ☒ →R
.

Then .

GCX , , ✗ us . - , Xn ) is the point estimator

from the sample X
, ,

✗
a , -

-

,
✗
n -

A particular realisation is called an estimate.

Exaripe: . gcx ) = In FÉ, 2- conbiasedness)

y
F-[I]=µ

✗
i. Xi , - . ,X, it:D ✗ gcx ,

,
> .

>
Xn ) = Ñ → var CE) =

µ =
ECXJ JE vara)

( sample mean ) (consistency)

Q: - ✗ ~ Bernoulli (p? Estimate b ?

Take sample X
, ,X, . . ,

✗ soo a- d - X

=
Éxi

;= To Estimate off.

u÷¥÷n
the estimate ?

Hypotheses
confidence interval testing

for P
from

Estimate
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